D:amzo: # 6 (8 points)

For the circuit shown below use mesh current analysis to find the mesh currents /. > and Is.

a L= | 5 Al S, AR
b. | L= ) A ” . 1 , — - u
T..”:n R A | A Lo ) f\__.wﬂ:: L )
1 m\ | - g+ = |
53 +40(x, ~T,) +15( 1,4 £'y) =o u“/_\.ﬁ/m,ﬁu- 1 Mv:\hmf |

m,‘._;L t YOI - 40Ty« \8L, - _mhw -6 ——————

Nm
Ay

Iy 40T Tq 3003 4 - kol =0 | P |
D 2 +30149 -3013 M:&EHP oIy 8 A Hwn. wbj,
=R

/

WOHM - 40T, W 9 ko r\n\® |

{

/

/

For the circuit shown below, use node voltage analysis to find the node voltages Va and Vs.
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Show Your Calculations

.Il.l..lll...l
For the circuit shown below, the voltage across the resistance R is Vo = 4V, find

the current 1, supplied by the 20-V voltage source,

v AV

a L=

b. | the current I, flowing zdo:m: the 6-Q resistor, Ig™ Orv667 K
c. | the resistance R. R= W i
d. | the equivalent resistance seen by the voltage source. | Req= w/ O/\lmwu\
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o estion # 8 (7 points
For the circuit shown below, find J
a. the load resistance R; for maximum power transfer Ry = & # O
| b. | the Thevenin equivalent voltage Vi = T 9 L v
¢. | the maximum power absorbed by the load R;.. = W\ LWL W
. -

R =
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Huo:?wo:oczmroés_un_o?cmo:zu principle of superposition to find the current i. Draw the
corresponding circuit diagrams e -

a. | Find the current i, due to the 6.V voltage source. by =

c. | Find the total current i due to both sources, i

=
b. | Find the current i2 due to the 2-A current source, i = D v i
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Show Your Calculations
For the circuit shown below, use voltage and current dividers to calculate : q: e
Vi L4 v g
v & . v
Vo= 5 \Y
0= 32 A A
= 2 A A
i3= \ A A
sp o e B
—r—\WWY
S U

—

30\?‘ émﬁ%_?,g




uestion 3 (5 points

For the circuit shown below, find

" | by the 5-V voltage source.

a. | the current /. 1=

b, | the power absorbed by the 4-Q e
| | resistor. e
| .. | the power absorbed by the 6-Q _

= | resistor. Pon =

. | the power generated or absorbed P
| by the 3-V voltage source. 2
| the power generated or absorbed Py =

+41 +5V+6l-0
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